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1. (10%) In CRC error detection scheme, choose P(x) = x* + 1. Encode the bits 101110.

2. (10%) In an RSA system, the public key of a given user is e=13, n=95. What is the private
key of this user?

3. (10%) What is “traceroute” on Linux (or “tracert” on Windows)? How does it work?

4. (10%) What is the purpose of the If-Modified-Since field in HTTP header?

5. (10%) Give some reasons for using fragmentation and reassembly in the IP protocol.

6. (10%) What is the benefit of the three-way handshake mechanisms in transport protocols?
7. (10%) Under heavy loads, how do the behavior of CSMA/CD and token ring differ?

8. (10%) How is SMTP used as the transfer protocol for images?

9. (10%) What is the difference between a store-and-forward switch and a cut-through switch?

10. (10%) Briefly explain the three types of IPv6 addresses.






